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forelt % @ 60 mA I 9T YaTfEd HH W 3T Ih H
Gfea grechr feufast ot 1 91 25 md ® | 39 3
T UThed B

(1) 13-89H
(2) 0138H
(3) 1389 H
(4) 13888 H

aﬁéﬁwwcmqﬁwaﬁ%%ﬁmﬁwﬁ
40 cm g0 W &9q B | fg 39 foea 1 guur 1 fomm |
20 cm TAERARG X fean s, @ wfafas frat gl
X fereenfia &1 Sem 2
(1) 36 cm TYUT & UTH
(2) 30 cm T E F
(3) 30 cm TYU1 % U
4) 36cm3ﬁ'UT@E;{

¢ fe-grEr o el mem A A V = Vi @
T R @ R | TR au sE fega-greshE @@ w
foga-29 QoM +y 9 % oHfew 3 | 99 3@

Terggq-reeha Tl o Yraehig & gre st fewm gl
(1) -—xTesm
(2 —zfem
(3) —yfem
(4)  +zfam

et firsm & uered o1 Srwadi /2 3R fsm %1
30° 2 | fr5w & @ omad® ol H H wh I A
TErR At h T I SR T 7 | GR HAR H
TOS A AT ThAUT YehTeT T hig G (GUUT ATl I8
¥ WEfdd B9 % Twar) I 9% | IO we e,
afg 5w W T o 1 9 2

(1) A

(2 60°

(3) 30°

4) 45°

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 13-89H
(2) 0138H
(3) 1:389H
(4) 13888 H

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be

(1) 36 cm towards the mirror

(2) 30 cm away from the mirror

(3) 30 cm towards the mirror

(4) 36 cm away from the mirror

An em wave is propagating in a medium with a
velocity ;)7 = V/i\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) —xdirection

(2) -z direction

(3) -y direction

(4) + z direction

The refractive index of the material of a prism is
J2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) zero
(2) 60°
(3) 30°
(4) 45°
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5. fu m ufwy esmw #, fEw deed (V) 20V,
Vpp =0T Vo =07 | I, I 3T o M Bl

(1)
(2)
(3)
(4)

20V

Ip=40 uA, Ig=5mA, p=125
Ip =40 uA, Ig =10 mA, B =250
Ip =20 uA, Ig=5mA, =250

Ip =25 uA, I =5mA, B =200

6. TrHl p-n @Y SETS H T B | A9 T diEH

(1)

(2)
(3)
(4)

p-n | % THY V — I ATTeIeqor st guferd st
2|

shaet oy (Faet) wferier =t wwrfara ohtat 2 |
p-n Gt & gfade =t gwifad 78 ot 2 |
el 7 Ty sl IHTfed ohar ® |

7. Tz d few U el & weE | fia Y o e A et
B 9ci H 39 YhR o¥ad fehal ST Hehdl &

Ae

Be

(D
(2)

3)
(4)

[
> y
(

?>a>‘ u>‘a>
w owl owl
+ o+
> P

5.

In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of I, Iy and B are given by
20V

(1) Ig=40pA, Io=5mA, =125
(2) Ig=40pA, Ig=10mA, B =250
(3) Ig=20pA, Ig=5mA, B =250

4) Iz=25uA, Io=5mA, B =200

In a p-n junction diode, change in temperature
due to heating

(1) affects the overall V — I characteristics of
p-n junction

(2) affects only reverse resistance
(38) does not affect resistance of p-n junction

(4) affects only forward resistance

In the combination of the following gates the
output Y can be written in terms of inputs A and
B as

Ae L

Be [ o Y
=

1) A+B

(2) A.B

3 A.B+A.B

4 A.B+A.B
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10.

11.

foreht spfsrent gro fafsefa i P 2 e =g aome,
Ay T 3Tfeehan Hat fafeRla w3 | o AR =

ISR 1 A9 gREfia & fen s g, we 76 9
%xoa@ﬁzﬁmaﬁwwfﬁr&sﬁamé,a

3% g fafeplta wiferd nP &1 STl @ | n <1 7 BAT

81
256

2 -

(D

3

4 -

g AR U ggred o &4 g SR gEI o Tad ot wum
g | 95 AR 1 STIRY-HE H &THA A 3R gW AR
HI FTIEI-HE H FTBA 3A 7 | I 5@ F Rt
UEe R I AR H AL H glg h I 7, 9@ gE AR
Sl awerg H o g & gig H b AT fhdd W Al
JTETAHAT B 2

(1 F

(2) 9F
(3) 4F
(4) 6F

M g (1:013 x 10° Nm™2) 3R 100°C a9 W
0-1 g I % T &I 100°C ht 919 H giEfda w &
I 54 hell ST ol I STEYIHRAT BT & | AR
3O WY H AFAT 167-1 cc B, 9 39 THI H
FNeh ol § qiEad &

(1) 845J
(2) 104:3J
3) 42:2J
(4) 2087dJ

s o o1 g @Y e formmaEen ¥ foRedt vaH ga
ficar 8 | W9 o & RO 3HA FEAT 39 BT R |
M & Sifm (efilFd) a9 | 3oqa o= @il

fr=fafaa & & foraeh SpATUT Bret B 2
(D r*
(2) 2
3 1
(4) ?

10.

11.

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ao, the power radiated by it

becomes nP. The value of n is

81

1) ==
W 256

2 -
3

4) -

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

1) F

(2) 9F
3) 4F
(4) 6F

A sample of 0-1 g of water at 100°C and normal
pressure (1:013 x 10° Nm_z) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 8454d

(2) 104:3J
3) 42:2J
(4) 2087dJ

A small sphere of radius ‘r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1) rt
@2 1
3) P
4 1

HLAAC/NN/Page 4

TF T o T8 UM / SPACE FOR ROUGH WORK

gcollegeduniag



12.

13.

14.

15.

o fFEt aig % g8 W oI 2y, (TR v, SEe
MR B) T TR U HIAT &, A1 Icfotd gerag it
1 AR 9 vy B | T9 fad fafeRwon i g
G By, L & Sl @, q IH T8 Ie@hid
ST B AT AT vy, B 8 | vy I vy

3T 3
1 2:1
2 1:2
3 4:1
4) 1:4

forelt eafea werel 1 sty 10 fie & | =fe
Iy § TRl T T 600 7, A1 450 TR &
forafea g9 o o aen wm (e ) 2

(1 15
(2) 20
3) 30
(4) 10

ST AV = Vo1 (Vg > 0) 3R ZEWE m
w1 FE e R REAST B - - By |
(Eo = FoRi® > 0) # t = 0 W Yo% &t 2 | AfE Iew
H 30 Soldeid I sl quesd A, 2, @ Tt W
3! Q- alTeed Bt

1) 2y

(1 + eEo t]
mVO

3) Mgt

(2)

E
(4) }LO{1+;V(:)‘5J
BIgIoH Ty <1 fepehl o whem # foReh goierei oAl
Tiferst Tt 3 3Hh! Pt ol BT I BT

1 1:-2
(2 1:1
3 2:-1
4 1:-1

12.

13.

14.

15.

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v,, the maximum
velocity of electrons emitted from the same plate
is vy. The ratio of v; to v, is

1 2:1
2 1:2
3) 4:1
4) 1:4
For a radioactive material, half-life is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1) 15
(2) 20
(3) 30
(4) 10

An electron of mass m with an initial velocity
- A

- A
E =-Eyi (Eg = constant > 0) at t = 0. If A is

(Vo > 0) enters an electric field

its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

1 Ay

Ao

[1+ eEo tJ
mVO

3) Ayt

(2)

@ i (1+ e tj
mVo

The ratio of kinetic energy to the total energy of

an electron in a Bohr orbit of the hydrogen atom,

18

1) 1:-2
2 1:1
3 2:-1
4 1:-1
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16.

17.

18.

19.

Toret wafer fguar w1 3w foreft Tt i i Aot &
IS 39 H o forw fopam a7, foem Ay wey
I LT I iEd] e g aumEifsTa foham < dehat
21 27°C &y 9 W Ty I T=E 20 cm AW
73 cm B W g HUFTA TG 399 B 8 | Al waf
g &1 IERT 320 Hz 7, @1 g § & & 27°C W
an g

(1) 300 m/s
(2) 330 m/s
(3) 350 m/s
(4) 339 m/s

Y Q % foreft fogea Tma ufgemr @enfr ¢
% A ITelt g <l afgemiati & fiw fRR-Ggd 9o
(1) ufgsati & o= sl g & FoshAguTdt a2 |
(2) ufgmiaAi & o= i gt W R 2T e |
(3) ;r%gﬁ%aﬁaaﬁaﬁ%aﬂﬁ@%aw@w
|
(4) dfgewrsti & o= i gt & WRaeha: FTHAAT!
A1 E |

g TAlcAh Teh HIHl Hd Had I Td H oH 8 3N
WA 3MEd gicteh i 9ifd g &9 F mW-A® i &

w e | e feufd & 5 m g W 3He Mo H
TN 20 m/s2 § | S bl AT 2

1) 1s
(2) 2ms
3) 2s
4) m=ms

I3 goiael fommaen @ fhet wshem™ qum SR w1
FeaieR fogd-&3 E # 15 1 78 g, h, frar 3 | o™
e # ufemor emfaffa w@d gu swhr foum
Iohitd L € It 7 | foRel Wi Wi formreen @
31 &1 St gl h 7o 3890 A T s 8 | e
& i § fore o wm < gon § solae g frd o
o o wH B

(1) &=

(2) A

(3) 10 TMAT Afeh

(4) 5T MU

16.

17.

18.

19.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 c¢cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 300 m/s

(2) 330 m/s
3) 350 m/s
(4) 339 m/s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) inversely proportional to the distance

between the plates.

(2) independent of the distance between the
plates.

(3) proportional to the square root of the
distance between the plates.

(4) linearly proportional to the distance

between the plates.

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

1) 1s

(2) 2ms

3) 2s

(4) ms

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of

fall of the electron, in comparison to the time of
fall of the proton is

(1) equal

(2) smaller

(3) 10 times greater
(4) b5 times greater
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20.

21.

22,

23.

T % TR AR Srefeeli wen # Tl 7w hi feufo
A, B 3R C W s HArd AW K, K 3 K 7 |
AC & 317 2 7o 9 i feufa S W SB femmgem &

AT ACH A 3 | 99

(1) Kp>K,>Kg
(2) K, <Kpg<Kg
3) Kp<K,<Kg
(4) Kp>Kg>Kg
Th 3 Tl dled A W § | Wled Tid H oaeq
AT TS St (K,) 6 @8 gof Tk S

(K,) ft 8t 3 | Tt & T K, - (K, + K,) T 319
=l

1) 2:5
(2) 7:10
(3) 10:7
4) 5:7

afe & &1 geEmE %0 AT B q A Teed TRyl
feorres afwmmr § 10 T &1, @ Fefafed § & SA-
& T 77

(1) geeft W ‘g’ % AW | qitacd & & |

(2) auf 2 et T stk Ift & iRt |

(3) YAl W WA AT 1 STEAHIA HH 8 ST |
(4) ot W T i i & S |

IS 3 TIAT Yok AT § 3191 Tufufa 3187 o ufa:
o &9 U R W R | 3 M H GEHE FHE
T@d gu sEh e # gfg St 1 e % faw
frfafga § @ wA- Wifas ufer for wh 2

(1) =i Hem

(2) wIufE I

(3) uff wfas et

(4) gcd IATe

20.

21.

22,

23.

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Kg>K,>Kg
(2) Ky <Kg<Kg
B) Kp<K,<Kq
4 Kp>Kg>Kq

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K; : (K; + K,) for
the sphere is

1) 2:5
(2) 7:10
3 10:7
4) 5:7

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) ‘g’ on the Earth will not change.
(2) Raindrops will fall faster.

(3) Time period of a simple pendulum on the
Earth would decrease.

(4) Walking on the ground would become more
difficult.

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Angular momentum
(2) Angular velocity
(3) Rotational kinetic energy

(4) Moment of inertia
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24.

25.

26.

27.

0-5 kg m™! ¥fd 31 Trams geome i foelt g <t
afast T8 # T Faehd TMa o W S &Afes & 30°
T IV ST 7, T T 2 | 36 B I 380 e
€T JaTed hieht e Hlehd 8l a1 ST e 36 W
0-25 T ST %1 Frehid &7 Heatar foem § sl =t @
2 | D8 I for we & fau s yerfga a2

(1) 11-32A
(2) T14A
(3) 1476 A
(4) 598A

20 mH %1 s Ik, 100 pF 1 hI GRS q5T 50 Q
1 ®1g Tfqliesh, fa.a1. s (emf), V = 10 sin 314 t
& forelt &iq @ Jvft o wafoa & | 3@ ufy ° wifd
DR

1) 113W
2 079W
3) 274W
4) 043 W
forelt ford-graes % gal & ot ufagreha gare &

T qacl! B8 SR fod g | 99 faga-gres § g/

Yalied sl S 7, 91 98 B8 &AfdS raehid & 8§ S

FW H AR Thd G T 2 | 3T THR g B Tecd

foufes o o =t @ | U e % e e

Tl LT B

(1) NG fogga-a= St for afiad grechia &3 @ 30
a1 2

(2) fora @@

(3) e o Yt hl ATeteh T=HT

(4) TR &

foreft ot Fselt freammnfiet it g gnfear 5 div/mA
3R dlleed! GaTiedr (S T3 dleedl H 3cqa hiv
&) 20 div/V & | 38 Treamier 1 afady B

(1) 500Q
(2) 40Q
(3) 250Q
4) 25Q

24.

25.

26.

27.

A metallic rod of mass

0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with

per unit length

the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 11-32A
(2) 714A
(3) 1476 A
(4) 598A

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 113W
(2) 079W
3) 274W
(4) 043 W

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitational The work

potential energy.

required to do this comes from

(1) the induced electric field due to the
changing magnetic field

(2) the current source

(3) the lattice structure of the material of the
rod

(4) the magnetic field

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 500Q

(2) 40Q
(3) 250Q
(4) 25Q
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28.

29.

30.

31.

forelt ThTRHTU A| % IAH (V) § A9 (T) & e
foeror % W gUi HFER BT B | STeRAl A W
STIET B dh WM hl Tisham 0 1 g fopu T Rt 3R

wésg‘r?msﬁﬁawmagm%
T B
A
0 —>T
D %
) %
®
@ 2

forelt go1 AT d1sd I g g R S AT
q1gY % gl U (ST i g % wHe 2 |
Ife g AT I18Y I Awg 20 cm 7, a1 Gl AN
q1gd hi TS BT

(1) 16cm

(2) 13-2cm

(3) 12-5cm

(4) 8cm

A % e IR FaHh & s HrRd fordl et

FSAT $9 I g&TaT Bt B
1) 12'5%

(2) 26-8%

3) 6:25%

4) 20%

fopg @ W A JTueT I i WIS WA (rms)
1A gt o IYATSA ¥ TATH L Tehd o foIC AT
Tt g1 et ?

(e T 2

SIS % 37U T &HH (m) = 2-76 x 10726 kg
diegsH e ky = 1-38 x 10723 J K1)

(1) 1254x10*K

(2) 2508x10*K

(3) 5016x10*K

(4) 8360x10*K

28.

29.

30.

31.

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

B
A
o —>T
5 %
@ 2
®
@ 2

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 16cm

(2) 132cm
3) 12-5cm
(4) 8cm

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1) 12:5%

(2) 26:8%

3) 6:25%

4) 20%

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :

Mass of oxygen molecule (m) = 2-76 x 10726 kg
Boltzmann’s constant kg = 1:38 x 1022 g K_l)
(1) 1254x10*K
2 2508x10*K
3) 5016x10*K
4) 8360x10*K
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32.

33.

34.

AUFAR AT gere % fRHl TEAd g WIS
agfad YehTr a1y ¥ IMUad war @ | feRet fae
YA IV 4 R A T T foh wwmafaa feRtol 3Tk
sqafia fRu Th-gEt % aFed § | FefaRed | @
Hi-a1 fashey o feufa & adt 8 2

(1) i=tan™! (lJ
n

(2) wafdd yh gfad 8 3 g fogq afew
JTYGH % dc % THH &

(8) i=sin! (EJ
n

(4) UaEfdd Y gfad g 3R s fogq @few
HYGH o del o oTread &

I % feferdt v &, fofai & < 9o d, 2 mm 2
aon forft & 9 i g D HT 100 cm T gW qwRHA
A = 5896 A % ThTT T IUFIT foRaT AT B | @ 9w
7 fop fShatl <At <hivfiT <iets 0-20° ] | & (38T A 3R
D % forw) fibsti <t =hiviia =SS &1 age 0-21° &

% fore faft & g % ok 1 e B
(1) 1-7mm
(2) 1-8mm
(3) 2:1mm
4) 19mm

forE TTieia ST9ad gIamieh 1 IV ST 3
3R ol fasigd 3= g, Afg 38 STfigyas o 6
(1) w8 g % 31K =AH Bl @

(2) HIHE g F AR = ¥ 3

(3) I gl Atk 3R =™ o1 2

(4) HIHE g A 3N =E e

32.

33.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

1) 1= tan_1 (lJ
1)

(2) Reflected light is polarised with its electric
vector parallel to the plane of incidence

(8) i=sin! (EJ
n

(4) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

(1) 1'7mm
(2) 1-8mm
3) 2:1mm
4) 1'9mm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1) small focal length and small diameter
(2) small focal length and large diameter
(38) large focal length and large diameter

(4) large focal length and small diameter
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35.

36.

37.

38.

3@ # gt SR $orE h & odvRfd uy % sgfew
form STerEe ¥ TR Tl 1S fUUs, =@ AB = D %
FHealeR g I Sh-3Neh IU HT 2 | 99 Ha18 h Eefr

B

I O

A

(D
2) =D

3 =D

4) D

= fovg, A : (T 3™ @), B : (TH dac IR
FHdt) qA C : (Th JAHR Bgl), W J@F *
geqq M qen B R R, @UE hivig I o § A9
ufifa s1ef & ufta: =shor o @ 8 | 32 formraEen |
M & fau fhu 99 ot 3mewEss wET (W) & fag
HI9-HT TEY TE 7 2

(1) WA>WC>WB

(2) WC>WB>WA

(3) WB>WA>WC

(4) WA > WB > Wc

Frafafaa & & w9-a1 FeH F@eT B 2

(1) |t =y o Y fommd owerg B fom % wEe
B § |

(2) e axu odf oo & w5 gar § |

(3) ©NUI o1 3MUferek T <R ferier REaT B |

(4) *3fae wdur w1 Hara e Afiens gfafse &
SASHATT BT B |

TEHE m 1 Teh TR Tehl, 4m GHH & fohet
TR R ek § Hog AT € | HUg S UvETq, goeh
Teoht fom sragen § o a1 7 | 9 ook ek
SRR 3T v &, 41 TeaHE T (e) T HH &I

(1) 04
(2) 05
3) 08
(4) 025

35.

36.

37.

38.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B

h D
l ;
(1) gn
@) %D
3) %D
4 D

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed m about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) Wr>We>Wp
(2) We>Wg>W,
(3) Wg>W,>Wg,
(4) Wuo>Wg>Wg,

Which one of the following statements is
incorrect ?

(1) Coefficient of sliding
dimensions of length.

friction has

(2) Rolling friction is smaller than sliding
friction.

(3) Frictional force opposes the relative motion.

(4) Limiting value of static friction is directly
proportional to normal reaction.

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1) 04

(2) 05
3) 08
(4) 025
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39.

40.

41.

(47 + 4-7) kQ Wity & Foreht Sreq-gfcligs W/, T8gaH
% foru, fafirm uit < g siferd fopr 9= 8 | 3o @ie
T A BT

(1) B0 —Ah — S — gaaa

(2) S — e — At — =T o1

(3) el — &0 — S — AR

(4) er — ST — A — =il o

‘v’ FIEH Ficgehi 1 qg=, a8 J® 1 gy
‘R 8, ooftspm W fa.a1.sd (emf), ‘B’ 3R 3r=afiish
gfqtie, ‘R’ 1 et S @ Taforg B | S 9 oft
g I 8 | 316§ ‘n’ IfaQeehi bl Uwd A 4 3EH S
o frn S g 1A S oA T awm 10 I &
Tt ] | ‘n’ BT HAH B

1 9

(2 10
(3 20
4) 11

g St 3maftes gl @ a1e, Fvfishd ¥ T,
TdEH Tl (FEA n UNEd B) ¥ oS B | deld *
et 1 TgueE ek g/ I AT E 7 | feam
HH-A1 T 1 3R n o = & Tae 1 giiar g ?

I
o N/

(@) —n
I—
@ !
(@) —>n
I
3) T
(@) —>n
I
4) T
0) —n

39.

40.

41.

A carbon resistor of (47 + 4-7) kQ is to be marked
with of different
identification. The colour code sequence will be

(1) Green — Orange — Violet — Gold
(2) Violet — Yellow — Orange — Silver
(3)  Yellow — Green — Violet — Gold

(4) Yellow — Violet — Orange — Silver

rings colours for its

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is L.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

1 9

(2) 10
(3) 20
4) 11

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I
o N/

each) which are connected in series.

(@) —n
I—
@
(@) —n
|
3 T
(@) —>n
I
4) T
0) —n

HLAAC/NN/Page 12

TF T o T8 UM / SPACE FOR ROUGH WORK

gcollegeduniag



42.

43.

44.

45.

ﬁéﬁaﬁgwﬁ?mmq%ﬁmw
foga-aa E %mﬁ%ﬁmmwﬁﬁiw
W IAHE B | T UHUE h AU H 9 q E &
ST ZHHT AT 0 H 6 m/s 8 W@ g | SH &
forgq-g it feom Sowfg S G oA B | 5@ B F
T H R I S YhUg qeh Td HdI B B | 0 &
3 THUE & s RgeiHr ®R & 3NEd 9 I 3NHd
1 SHATT: B

(1) 1-5m/s, 3m/s

(2) 2m/s, 4m/s

(3) 1m/s, 3:5m/s

(4) 1m/s, 3m/s
M HI 0 o frdl oo 3Md 951 ABC W m

TEATH T his sl FHATAR {2 2 | 39 91 o grft
3R hig @R ‘@’ T I @ | sdfeh &l a9 W o

T & U a 3 0 & <= Gy 8
A
2
a
0
C B
(1) a=gtan®
(2) a= g
cosec O

(3) a=gcosH
g
@ a_sine
foreft BT 3 3T 1 g g < =" H WA 0-001 em
JCUAHR ATl B I g H | g&F 9uH 1 A
5 mm 3R FAF M H I Tl TaA | 25 WA
FHR 2 | A T 9 § I IR — 0-004 cm 7, T 71Q
T TE A B

(1) 0-529 cm
(2) 0521 cm
(3) 0053 cm
(4) 0-525 cm

%

g (2,0, - 3) RFH@aa F =41 + 5] - 6k =1
g (2, — 2, — 2) % 9i@: Tl g

A A A
1) -7i-4j -8k

A A AN
2 -8i-4j -7k

A A AN
3) -7i-8j -4k

A A A
4) -4i-j -8k

42.

43.

45.

A toy car with charge q moves on a frictionless
horizontal plane surfatg under the influence oi)a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 1-5m/s, 3m/s

(2) 2m/s, 4m/s

3) 1m/s, 3:5m/s

(4) 1m/s, 3m/s

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6
for the block to remain stationary on the wedge
is

A
2
a

m

C B
(1) a=gtan6
@ a=_2
cosec 0

(83) a=gcosH

g
4 =
@ a=23

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-:001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 c¢m, the correct
diameter of the ball is

(1) 0529 cm
(2) 0-521 cm
(3) 0053 cm
(4) 0525 cm

- A A A
The moment of the force, F = 4i + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) —-7i-4j -8k
A A A
@2 -8i-4j -7k
A A A
(3) —7i-8j -4k
A A A
4 -4i -3 -8k
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46. FrafoRea § ¥ feg =ml @ ﬁ%ﬁw i T 46. Which of the following hormones can play a

significant role in osteoporosis ?

H 22 (1) Parathyroid hormone and Prolactin
(1) YqUTEIEE g Td TreAfaed (2) Aldosterone and Prolactin
(2) Ucerdld g Trafaed (3) Estrogen and Parathyroid hormone
3) f o T 2 (4) Progesterone and Aldosterone
(4) SIS T Teeheed 47. Which of the following is an amino acid derived
hormone ?
47. Frafafga & & wF-an gH Wi eret & ogeqd B (1) Estriol
2
. (2) Epinephrine
(1) ufEgara
(3) Estradiol
(2) ufhE
. (4) Ecdysone
(3) U
(4) TUHSTEHH 48. Which of the following structures or regions is

incorrectly paired with its function ?

48. T=fafga 0 @ -5 AT AYyar 89 3TH S & (1) Corpus callosum : band of fibers

Terd €9 § Ifwd 7 2 connecting left and
' right cerebral
(1) 4Y Felgd ;&0 T ¢ gaiEqsh Mot hemispheres.
EIEISSEIN aﬁe’ﬁ @1 gl | (2) Medulla oblongata : controls respiration
@2 @ ST - Ve e e I.eﬂt:f(;le():(z:;c‘l1ovascular
w1 TR e |
. ) (3) Hypothalamus :  production of
(3) ERTYAHE . foriem g 1 3caTed ue releasing hormones
AT, @ q = H1 and regulation of
T ST | temperature, .
hunger and thirst.
(4)  Teriseh : Hﬁ?’ﬁ ® ?33[ it Afed . * (4) Limbic system :  consists of fibre
ﬁ'ﬁqﬂ &t Eﬁ T H Siree tracts that
g; Tfd =1 fmr R | interconnect

different regions of
brain; controls

49. W ¥ # unel o e g ST TUM W Eal movement.
77
. 49. The transparent lens in the human eye is held in
(1) vemy %1 A et faet afert gra its place by
(2) UEHY HE H IS T g (1) smooth muscles attached to the ciliary body
(3) omefmd ﬂg} Tt AR g/ (2) ligaments attached to the ciliary body
" (3) smooth muscles attached to the iris
(4) om3i@ @ S8 WYsh g

(4) ligaments attached to the iris
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50. TORT YO1 h YoETEl g oo fehwd S 8 2

51.

52.

53.

(1) TeIca= U S{dEcardl

(2) TRl g HEISHER

(8) YEISHER Ud NYhHh

(4) IqETET & HEISTHER

AT ! T T & T 190 S giae afad
Tl B 2

(1) hCG, INENH, TENH, ‘('LdolchTré*Tss

(2) hCG, hPL, TSEoH, Tretfaed

(3) hCG, hPL, JISTESH, TEISH

(4) hCG, hPL, T&eieH, ffeam, srifeaertam

mifRgs Tl
(1) U wym-fg mifiue B |

(2) TV T TEISH UTEl hl Aa%6g Hidl & Td 3Tel
o QU1 T Tehel! B |

(3) WhIUD® I

(4) el H TS Sl Higdl %l Wil ® T
STSIET ol Ushd! B |

TSRS TS YT (THTer) H T S 7 2

(1) YU B IR §9d 8§, Sefeh IEREE |
GRS T |l HIRERRT H Yshoh
Afcrehtat <t Tfgeht § WM BT © |

(2) WS R 5§, Selh e §
1] S 7 |

(3) IGPIUEHA § IBRIVST T HTell whIfSTeRTsT &
WehoRs Afahien H it # OHeA B R,
ek YhIUE H Yh1Y] S § |

(4) YGRS H IR S 8, Safh IR H
YSRIITE & § |

50.

51.

52.

53.

The amnion of mammalian embryo is derived
from

(1) ectoderm and endoderm

(2) ectoderm and mesoderm

(3) mesoderm and trophoblast

(4) endoderm and mesoderm

Hormones secreted by the placenta to maintain
pregnancy are

(1) hCG, progestogens, estrogens,
glucocorticoids

(2) hCG, hPL, progestogens, prolactin
(3) hCG, hPL, progestogens, estrogens
(4) hCG, hPL, estrogens, relaxin, oxytocin

The contraceptive ‘SAHELI’
(1) 1is a post-coital contraceptive.

(2) Dblocks estrogen receptors in the uterus,
preventing eggs from getting implanted.

(3) 1isan IUD.

(4) increases the concentration of estrogen and

prevents ovulation in females.

The difference between spermiogenesis and

spermiation is

(1) In spermiogenesis spermatozoa are formed,
while in spermiation spermatozoa are

released from sertoli cells into the cavity of

seminiferous tubules.

(2) In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.
(3) In spermiogenesis spermatozoa from sertoli
into the

seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

(4) In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.
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54.

55.

56.

57.

58.

T T % TH X T H X-Gor a9 @ | I8 U
[EZCECNI i

(1) i ud gRRI gl

(2) had ghE |

(3) had drar-aifert /Aot #

(4) had g |

g g AT % orgEr fawm & frnfafy form wer
BB 2

(1) &g IcaiEdd

(2) SEOT e

(3) <iffreh goa &Y qitEd (Seorredt fafierar)
(4) HTeeIH

I ° HIF-A1 U T W 7gT 2 2
(1) 3S9EFh

(2) TETATh

(3) U=

(4) TEATHS S

T S & RIfET =9 HT1 8 AGGTATCGCAT 2 |

5% g IT0IRad mRNA 1 Hefod sh0 =1 g 2
(1) UCCAUAGCGUA
(2) AGGUAUCGCAU
(3) ACCUAUGCGAU
(4) UGGTUTCGCAT

ey 1 8 &) 78 9e o1 &qw 11 1 we) 9 frer Shife
IR o feu MU fawmedwi § @ @E? fawew w1 W
Hifyu

&y I &z I1
a.  UGUGHIT UTFEAT i T TR w1 feea
b. @l g ii. Yeehr e
c. kgaE iii. dafuvg yraen
a b c
(1) iii i ii
(2) iii ii i
(3) i iii i
4) i iii ii

54.

55.

56.

57.

58.

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by

(1) Both sons and daughters
(2)  Only daughters

(3)  Only grandchildren

(4) Only sons

According to Hugo de Vries, the mechanism of
evolution is

(1) Minor mutations

(2) Multiple step mutations
(3) Phenotypic variations
(4) Saltation

All of the following are part of an operon except
(1) a promoter

(2) an operator

(3) an enhancer

(4) structural genes

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) UCCAUAGCGUA
(2) AGGUAUCGCAU
(3) ACCUAUGCGAU
(4) UGGTUTCGCAT

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column 1 Column II

Breakdown of
endometrial
lining

Follicular Phase

Luteal Phase

a. Proliferative Phase 1.

b.  Secretory Phase ii.

c.  Menstruation iii.
a b c

(1) il i ii

(2) iii ii i

3 i iii i
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59.

60.

61.

62.

63.

64.

e T H Hest g G=ftd O] % HROT oTEieRT

arfefEt § feepret MY 3= g1 & 2

(1) erifoufm

(2) ThrhfeufEd

(3) Forad T

(4) UshRUHE
fefefiga saer fam & IeEwn 4 9 7era oy
1 = HIfT

(1) A9, TS Ud HH i 3AE
(2) WM, TWICE Td =idl o 37U
(3) <HIEE, A T <idl sl HiETsh
(4) <WGS, AHE TF =Hdl 1 ged

Ik hIULH o JYUE hl AT AT H HHMEAD

foRErhT ITTEL0T 2 2

(1)  3Tgepett ot

(2)  HHSITAAT

(3) I foeprd

(4) qoIEadm

Frfafaa & 9 sH-a1 Taufaen T 787 8 2
(1) fafefam

(2) wrfefad

(3) TSAWEH T

(4) T Gty

Freafafaa siftraeet 8 @ S8 937 & SRm Tt i
9T’ Sl gWd 8 2

a EEICKI

b.  HEYHIeA

c. g A

d.  oTqul ywTfaa

e. agsﬂﬁersrrrrﬁr

(1) a,c‘lfre

(2) b,c‘lfre

(3) b,dWW e

(4) a,b@ic

T % @ H OFART F IR TS qWE  &Har
fererht gfig < T BNl B 2

(1) faafm E

2) faarfm D

(3) faarfm By,

(4) foafim A

59.

60.

61.

62.

63.

64.

In which disease does mosquito transmitted
pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Amoebiasis

(2) Elephantiasis

(3) Ringworm disease

(4) Ascariasis

Among the following sets of examples for
divergent evolution, select the incorrect option :
(1) Eye of octopus, bat and man

(2) Forelimbs of man, bat and cheetah

(3) Brain of bat, man and cheetah

(4)

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

Heart of bat, man and cheetah

(1) Adaptive radiation

(2) Homology

(3) Convergent evolution

(4) Analogy

Which of the following is nmot an autoimmune
disease ?

(1) Vitiligo

(2) Psoriasis

(3) Alzheimer’s disease

(4) Rheumatoid arthritis

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

c Multiple allele

d. Incomplete dominance

e Polygenic inheritance

(1) a,cande

(2) b,cande
(3) b,dande
(4) a,bandc

Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin E
(2) Vitamin D
(3) Vitamin By,

(4) Vitamin A
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65.

66.

67.

68.

69.

T 1 H < T Al o TRy I Rl wel 8 e hifse
IR f= few MU fowmedi & @ @E? fasey w1 T

HINT

&y [ &y 11

a.  gUmN i. UV-B faferto

b. &fel cefha i, S

c. Temrad (VN sAEeE) il 9N Tig

d. IuEd iv. smufirse faem
a b c d

(1) i ii iv iii

(2) ii i iii iv

(3) i iv i ii

4) i iii iv ii

Frafataa & o fafean foagsm o giesifas & 3cueT &
o wwfee i - e fhar sgan w6
STt 8 2

(1) sy

(2) HEIRTaT

(3) YTSiiferan

(4) GEIRINET

Frafafaa o & wH-a1 STRRYH e 7 Tg7 AT 2

(1) s

(2) TISfT FHET UTh
(3) dHEaldh 3TW

(4) Yfed 3Iqa4

T o h TG g5 STl §

(1) SAYd s Sew =afseai & %9 2id & |

(2) SAYE A Sew Safsedi & 31fYe 8 € |
(3) HEH TS Wqd oA HEA # SOt B

g1

(4) Y S FIR AT § &0 8 2 |
“ien” ek I I WY o foRE 9T ¥ wTed BT R 2
(1) ufwi @

(2) FiH

3) wei¥

(4) WwRF\H

65.

66.

67.

68.

69.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-Bradiation
b.  Sanitary landfill ii. Deforestation
Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
1 1 ii iv iii
(2) i i iii iv
(3) it iv i ii
4) i iii iv ii
Which one of the following population

interactions is widely used in medical science for
the production of antibiotics ?

(1) Amensalism
(2) Commensalism
(3) Parasitism

(4) Mutualism

All of the following are included in ‘Ex-situ
conservation’ except

(1) Seed banks

(2) Wildlife safari parks
(3) Botanical gardens
(4) Sacred groves

In a growing population of a country,

(1) pre-reproductive individuals are less than
the reproductive individuals.

(2) pre-reproductive individuals are more than
the reproductive individuals.

(3) reproductive and pre-reproductive
individuals are equal in number.

(4) reproductive individuals are less than the
post-reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Leaves
(2) Flowers
(3) Roots
(4) Latex
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70.

71.

72.

73.

frafafaa @ @ s J6t Hifvend sy ' 3
T3 § Wgg hidl & ?

(1) fixfir Sifsrenrd

(2) T Hifdrepd

(3) A (Mecie) HITIHIT

(4)  TISHT SHITTHT

ey 18 &) 78 9e o ward 11 1 9e & fiam hifse
IR = few MU fowmewt @ @ @E? famew w1 =

HIT

&y I &y I1

a.  WIEfSANE i qUEelt @qe

b. TAGRH ii. T o

c. U iii. wforen frafafy
a b c

(1) ii iii i

(2) i ii i

3) i i ii

4 i ii i

F=fefiga § & saemtie vae foer &1 Ierer =
2?

(1) araehifa
(2 TR
(8) digfersw
(4) fafoermar

hehTel URf Heped | hicwram mewequl 7 wife 77
(1) WA | g 3R Ufded dg % wed oTey
Frwtor =t Tepa B |

(2) QI & ekt Uk & Hlha T & e
%I BT <A1 & HEEE o forg |

(3) UfFed ag @ Al i ST A R |
(4) A TS & ot 38 fsamsfiel T B |

70.

71.

72.

73.

Which of the following gastric cells indirectly

help in erythropoiesis ?

(1) Parietal cells
(2) Chief cells
(3) Goblet cells
(4)  Mucous cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column 1 Column I1

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1) i iii i

(2) iii ii i

3) i iii ii

4 i ii iii

Which of the following is an occupational

respiratory disorder ?

(1) Emphysema

(2) Anthracis

(3) Botulism

(4) Silicosis

Calcium 1is important in skeletal muscle

contraction because it

(1) prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

(2) binds to troponin to remove the masking of
active sites on actin for myosin.

(3) detaches the myosin head from the actin
filament.

(4) activates the myosin ATPase by binding to

it.
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74.

75.

76.

71.

78.

79.

et % fuvs gera: foress a4 310 8 2
(1) god TsaE™ w6 RER

(2) WA ud fafrg

(3) ¥t 37 td SER

(4) DNATE RNA

Y § DIF-HT AT TeTd & ?

(1) Tl BrmRefator gahiee 6
o § aRa g 2

(2) TCA sk o THTEH GFhUTh o 3merh # oo
R |

(3) TATSHITATTH q& dh BT & Id doh 36 QIS

AT T ISH h fort NAD fireran T 2 |
(4) ToTgRIfAfeE Hifemfac § gum Bt 7 |
Tera THAH w1 =9 HIfT
(1) ¥g9eM™ A — UfFHfaeAl & 37
(2) g s - fgme S e
(3) IUWEehy! TRE — L-3hRIT R
(4) UAEm — fom orE

frefafga d @ -8 qiwives wee qma dafa=m™
! I Hid & ?

(1) e, fgamed!, fowmadt

(2) g, feamEdt, wHadt

(8) UG, ThaRGd!, AT

(4) e, feamEdt, o

% USTfsHs e (RER) ¥ Ffafea # =
HH-Hl T 7@ Bt ?

(1) wrepifafis dvayo

(2) HIEH T F@

(3) Hehd UCISS T fageH

(4) HIEH T TATERITATH

g0 ¥ UEEM T mRNA ¥ T g St THae
IS <l %S SicRl sid & | UsSEm < U
@IS ! FAT FHad & ?

(1) iz

©2) wEE

(3) TaEEEm

(4) wgaE fuvs

74.

75.

76.

717.

78.

79.

Nissl bodies are mainly composed of
(1) Free ribosomes and RER

(2) Proteins and lipids

(8) Nucleic acids and SER

(4) DNA and RNA

Which of these statements is incorrect ?

(1) Oxidative phosphorylation takes place in
outer mitochondrial membrane.

(2) Enzymes of TCA cycle are present in
mitochondrial matrix.

(38) Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(4) Glycolysis occurs in cytosol.

Select the incorrect match :
(1) Polytene
chromosomes

(2) Lampbrush
chromosomes

— Oocytes of amphibians
— Diplotene bivalents

(3) Submetacentric — L-shaped chromososmes
chromosomes

(4) Allosomes — Sex chromosomes

Which of the following terms describe human
dentition ?

(1) Pleurodont, Diphyodont, Heterodont

(2) Thecodont, Diphyodont, Homodont

(3) Pleurodont, Monophyodont, Homodont

(4) Thecodont, Diphyodont, Heterodont

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1) Phospholipid synthesis

(2) Protein folding

(38) Cleavage of signal peptide

(4) Protein glycosylation

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(1) Nucleosome

(2) Polysome

(3) Plastidome

(4) Polyhedral bodies
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80.

81.

82.

83.

84.

85.

faferegm s @it Tersert & form yehr fim 7 2

(1) 399 31 YR % Frgeh 81d &

(2) I T o foTu FHemfirehT 1 TI A #

(3) A TR 1 Yehed & foIQ qreTy 1 T A B

(4) 3T wrfafea gt B Feen % fau ggEmsha
gt Bt B

FREh! FHE o I I-qell hl TG HIT AT T
9 @3 H i T e g srfvaterd

(1) Aifeeaefis

(2) UfepferRm

(3) U

(4) TAfen

frfafea & @ iF-a1 g awardt 787 2 2
(1) R2per

(2) dHlvg

(3) FHag

(4) @

fafafgd 4 @ S99 a8u | St H 9gaH qrer

Hihla § HFd & ?

(1) Tee™ i Iufefa

(2) Td I e W A & AHR H ey H
Iufeyfa

(3) T JaR TG Higd 3 TG

(4) Y=o I I uefd

Freafafad S=get # @S-8 I+ FRTE 787w 2
(1) TR
(2) HgeT

(3) HiY
(4) ke

Frafafed & @ #-8 Sta gg@rRl § §&T 3caEs 5
w9 H M A8 ?

(1) FefHTEed
(2) SEATRASCE
(3) TRHTSEFIRET
(4) sSECH

80.

81.

82.

83.

84.

85.

Ciliates differ from all other protozoans in
(1) having two types of nuclei

(2) using flagella for locomotion

(3) using pseudopodia for capturing prey

(4) having a contractile vacuole for removing
excess water

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Osteichthyes
(2) Amphibia
(3) Aves

(4) Reptilia

Which one
homeotherm ?

of these animals is not a

(1) Psittacula
(2) Macropus
(8) Camelus
(4) Chelone

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Presence of anal cerci

(2) Presence of a boat shaped sternum on the
9% abdominal segment

(3) Forewings with darker tegmina

(4) Presence of caudal styles

Which of the following animals does not undergo
metamorphosis ?

(1) Starfish

(2) Earthworm
(3) Moth

(4) Tunicate

Which of the following organisms are known as
chief producers in the oceans ?

(1) Euglenoids

(2) Dinoflagellates
(3) Cyanobacteria
(4) Diatoms
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86.

87.

88.

Frafafga & @ w=-ar fasew swaw: g 3R aaehifa

T Phgl ! g i 3fd &9 & giar § ?

(1) vag gag o &, ygafaes § my

(2) vIEFS °§ MY; T@EA Tdg | HH

(3) vaEl Gag § SAfiehar; Y@ ¥ MY

(4) vaHehr f e U fyemdr; vaedl g A
Sferehdn

ey 18 &) 78 9e o w11 1 9e 8 faam hifs
IR = few MU fowmewt @ @ @E? famew w1 =

T

LT 1 T 11
a. oo suae i, < 3rfere W W e
& o=
b. fgaert wure ii. e e e g
gt & o=
c. AT HURH  iii.  erfed sfere W arfe
fem & =
a b c
(1) 1 i 111
(2) il i i1
3) 1 11 i1
4) 1 i1 11

ey 18 & 7S Hel o1 wary 11 9el § faam il
IR fo few MU fowmewi 4 @ @E? fawew w1 WA
Hifv

Ty [
a. SAR ad i.

b. JawEEd giEa i

TEy Il
2500 — 3000 . <.
1100 — 1200 fir.=f.

AT

c. Trvama gdfem iii. 500 — 550 fr. <.
CIDGES

d. 3rafyre e iv. 1000 — 1100 fir.&ft.
a b c d

1) v iii ii i

(2) iii ii i iv

(3) i iv ii iii

(4) iii i iv ii

86.

87.

88.

Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Decreased respiratory surface;
Inflammation of bronchioles

(2) Inflammation of bronchioles; Decreased
respiratory surface

(8) Increased respiratory surface;
Inflammation of bronchioles

(4) Increased number of bronchioles; Increased

respiratory surface

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column II

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

b.  Bicuspid valve ii. Between right
ventricle and

pulmonary artery

c¢.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

1 i i iii

(2) iii i ii

3 i ii iii

4 i iii ii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I1

a. Tidal volume i. 2500 — 3000 mL

b. Inspiratory Reserve  ii. 1100 - 1200 mL
volume

c. Expiratory Reserve iii. 500 — 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL

a b c d
1) iv iii ii i
(2) iii ii i iv
3 i iv ii iii
(4) iii i iv
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89.

90.

ey 1 1 € TS 9e o1 wqw 11 6 me) § fem iR
IR f= few MU fowmedi & @ @E? fawey w1 wA
SHifa

ey 1

a. ’E’Bﬂﬁ'ﬂﬁm 1.

Ty I1
Sret o ik T H
HUE B

b. TmRE ii. g H fopeefera oemn %
fiug
c. gFhE g iii. =BT B Tgrgehdl

iv. T3 H o[HE HT BT

a b c d
1) iv i ii iii
(2) iii ii iv i
(3) ii iii i iv
4 i ii iii iv

ey 18 & 7 wel o @ 11 7el & e il
IR i few U fomewi 0§ @E? fawew &1 WA
T ;

&Y [

(F1%)
a. offigen Feed i
b. T 1 HGW ii.

ey I1
(37Gi4 TF BT 9TT)

RSN
TaTteft

c. TIAH AWEA il TEE
d. TAREET v, HAUN HOER
v. EHIOEy Hafad At
a b c d
1) v iv i iii
2 v v ii iii
3 v iv i ii
4 iv i ii iii

89.

90.

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I
a.  Glycosuria i. Accumulation of uric
acid in joints
b. Gout ii. Mass of crystallised
salts within the kidney
c. Renalcalculi iii. Inflammation in
glomeruli
d. Glomerular iv. Presence of glucose in
nephritis urine
a b c d
1 iv i ii iii
(2) iii ii iv i
3 i iii i iv
4 i ii iii iv

Match the items given in Column I with those in
Column IT and select the correct option given

below :
Column I Column II
(Function) (Part of Excretory
System,)
a.  Ultrafiltration i. Henle’s loop
b. Concentration ii. Ureter
of urine
c.  Transport of iii. Urinary bladder
urine
d. Storage of urine iv. Malpighian
corpuscle
v. Proximal
convoluted tubule
a b c d
1 v iv i iii
(2) iv v i iii
3) v iv i i1
(4) iv i il 1ii
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91.

92,

93.

94.

95.

96.

97.

fgaoht @ & fdflos sem of v fred 3o
BAE?

(1) wef fawsn

(2) ey favsan

(3) hUTH

(4) Hered T

Y- fope Bt § 2

(1) ST Srrgfg o

(2) TaUmEgYE |

(3) WETEH yreHi H

(4) TITA-ICATS STAgIg §

Iz UTe" -9 & o fgdtae gig oSt an foepa =
Breft 2

(1) @Tsshed

(2) =™

(3) zFud

(4) YTl ST

TAT HAA I AT :

(1) "l B gt oo i wifsesr |
YRR Toh THATE & |

(2) <haehl 3T UCY SId & He&dl H wifvrenr fufa
39T gt 8 |

(3) TSRl | Uy Toi 37 W U9 A i
AT € |

(4) TR H GEEY SRAfEAIERET T 7 |

Il afgaf wal Bl § ?

(1) 3T=dEcer

(2) STRICEE

(3) dohe

(4) iy

ITehTehe TohEehT T 8 2

(1) g

(2) @t

(3) HIem qd

(4) ITaETie qA

frfafaa & @ wH-51 w9 &g 8 ?

(1) @rE®g AN fFgg g1 T FIERoEan ad ARRad
B E |

(2) SHEgqEtE § deme svenm fufa gro afieg
& = |

(3) TERe™ IFasist 7 |

(4) Redfoder & fowmsiemy aen R, wEfe

91.

92.

93.

94.

95.

96.

97.

Secondary xylem and phloem in dicot stem are
produced by

(1) Axillary meristems
(2) Apical meristems
(3) Phellogen

(4) Vascular cambium

Pneumatophores occur in

(1) Submerged hydrophytes
(2) Halophytes

(3) Carnivorous plants

(4) Free-floating hydrophytes

Plants having little or no secondary growth are
(1) Cycads

(2) Grasses

(3) Conifers

(4) Deciduous angiosperms

Select the wrong statement :

(1) Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

(2) Cell wall is present in members of Fungi
and Plantae.

(3) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(4) Mushrooms belong to Basidiomycetes.

Casparian strips occur in
(1) Endodermis

(2) Epidermis

(3) Cortex

(4) Pericycle

Sweet potato is a modified
(1) Rhizome

(2) Stem

(3) Tap root

(4) Adventitious root

Which of the following statements is correct ?

(1) Stems are usually unbranched in both
Cycas and Cedrus.

(2) Ovules are not enclosed by ovary wall in
gymnosperms.

(3) Horsetails are gymnosperms.

(4) Selaginella is heterosporous, while Salvinia
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98.

99.

100.

101.

102.

103.

Frafafaa stieet & fra yor o1 wiitfeufasdh fifis
greq TR S 2

Tgeere Suvierar : 120 g
Trifires UM : 60 g

T1fHeh 3caeeh : 10 g

Samn w1 Hear fifis

ST 1 3ol fRfre

(3) T = Hien fRfis

(4) St w1 Rfre

forva e feam e W ST R 2
(1) 223713

(2) 53

(3) 16 faarer

(4) 2137

qHATIEEA H, SWH % fashdietn TR 3Tfvash
sfedl 1 fogfem & Fefafgd o @ #H-w1 a9
IR o €9 H HE BT 7 ?

(1) 3Hleefs

(2) A

(3) Fe

4) Cl

At & = At @ 2

(1) T E™ | AT 6 3T el shi we

(2) JIX

(3) 3TETE I Bied dATAl ATl hl H&AT

(4) A

Trohd w8 2

(1) @?mﬁ%ﬂéwﬁ%ﬁv fteh1, &l a8
L&dl

St o gateror § guft A s

qUAE 1 98 908 S N9 W @ % fou
=fge

(4) 97 ¥ifieh TIH S8l Th a9l & 2

frfafed 7 @ wH-a T fdtas ugws 2 2
(1) O,

2 Co

3) SO,

4) €O,

(D
(2)

(2)
3)

98.

99.

100.

101.

102.

103.

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g
Primary consumer : 60 g
Primary producer : 10 g
(1)
(2)
(3)
(4)

Upright pyramid of biomass
Inverted pyramid of biomass
Upright pyramid of numbers
Pyramid of energy

World Ozone Day is celebrated on
1 22° April
(2)
(3)

(4)

5% June
16 September
215 April

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(D
(2)
3
(4)

Natality refers to
(1)
(2)
3)
(4)
Niche is
(1)

Oxygen
Carbon
Fe
Cl

Number of individuals entering a habitat
Death rate

Number of individuals leaving the habitat
Birth rate

the functional role played by the organism
where it lives

(2)

all the biological factors in the organism’s
environment

3

the range of temperature that the organism
needs to live

(4)
Which of the following is a secondary pollutant ?
(1) Og

(2) CO

(3) SOgq

(4) COgq

the physical space where an organism lives
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104.

105.

106.

107.

guey TR fehed Bid 7 ?

(1) 9E7E

(2) wEl

(3) 3™

(4) GEHg

ffafaa 4 & forad Frgepaae dun AdEfifaweH
% gy sfiey Sfesid ®9 7 30 B § 2
(1) @mreT

(2) =Rt

(3) TIRwH

(4) 3R

frfafigd 8 @ wF-T1 777 w9 ° gofoa g 2

(1) UHHIEH Sfa —  FIRAT

(2) TUHBIMNGH JWh  —  GHTABEHNT
(3) <m —  gRRET

(4) fTepamfis =eeiiony — R Sara

T I H & TE Hel o TR 11 R Hel 3 e hifse
i e feu U fosedi & @ @gt fawew =1 wA

HINT

&Y [ &7y I1
a. UQEEE i OafEd ded SR Sl %
U 1 Teh LTI |
b ﬁﬁﬁ i, U eTd e s g} Sfa
=1 fafergee TF #d 7Y 3R
TR UgEH I g & faw
et o id 8T T = |
c. TUTE il UM ¥ @l 9IeY Tl i
FEH 3R TR T T
JTRITYT T T@T AT 7 |
d. TUEE  iv. T Yieaehr frad aegon <t e
(herat) 3R 37k foehed B1d & S
fafir anfent <t vg=m & &
" B ¢ |
a b c d
(D i v i i
2 i v i
(3 i iv i i
(4 i i i v

104.

105.

106.

107.

Winged pollen grains are present in

(1) Pinus
(2) Mustard
(3) Mango
(4) Cycas

After karyogamy followed by meiosis, spores are
produced exogenously in

(1)  Saccharomyces
(2) Neurospora

(3) Agaricus

(4) Alternaria

Which one is wrongly matched ?

(1)  Unicellular organism — Chlorella

(2)  Uniflagellate gametes — Polysiphonia
(3) Gemma cups —  Marchantia
(4) Biflagellate zoospores — Brown algae

Match the items given in Column I with those in
Column IT and select the correct option given
below :

Column I

It is a place having a

Column 1

a. Herbarium i.
collection of preserved
plants and animals.

b. Key ii. A list that enumerates

methodically all the

species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and

pressed plant specimens

mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list

of characters and their

alternates which are
helpful in identification of

various taxa.

a b c d
(1) i iv i ii
2 i iv 1ii ii
3) i iv 1ii i
(4) i ii i iv

HLAAC/NN/Page 26

TF T o T8 UM / SPACE FOR ROUGH WORK

gcollegeduniag



108.

109.

110.

111.

112,

113.

114.

f=fefigd @ @ 9-A1 9ew Ty H T MG 5 A1

TE frere Ty gunian 8, e i ot & fo
YT e =15k U1 g7 L TRl ?

(1) Fr=er
(2) &wEiger
(3) el
(4)  gFH7

T HUI HT Wgd W AW o [T ga ATsgeH | fopd
YA 9T HUSHOT fohaT ST Tehd 8 2

(1) -160°C
(2) -120°C
(3) -196°C
(4) -80°C

qIgdl gl wig w1 Sy i @ @ few vy o

BT 8 ?

(1) i 3R & Al

(2) Wi

(3) Had d

4) wE

fFreafafes & @ 9w o Sy § whifd sEm

TEH & foru Ieeer 2 2

(1) Hfceem

(2) BfREm

(3) drefmm

(4) wifemm

gl e I B 2

(1) gmeh G 3R PraereH

(2) TH W FA % o R HH Bl o o7Ei
Y HATH

(3) @ T Wb I Teh 37 o 1Y T

(4) TS T IS 1 &l YT hrgehl b AT TATH

HIRTHR Y961 § NAD* 31 ftent 91 2 ?

(1) ggmmﬁaw%%qaﬁwsﬁmﬁ PIE]

|

Ig Teh TSl13H % &9 H % Ll B |

ggq‘ﬁ.ﬁ.mw%m@:{ﬁmﬁ?@aﬁ

|

(4) I TH SAFGH TG o &9 H HE T 2 |

Torem yepT1-Tveiyur § ifefieH g7 ket 2

(1) &

(2) U dowt SEifE

(3) dEHg

4) TIEElH

(2)
3

108.

109.

110.

111.

112.

113.

114.

Which one of the following plants shows a very
close relationship with a species of moth, where
none of the two can complete its life cycle without
the other ?

(1) Viola

(2) Hydrilla

(3) Banana

(4)  Yucca

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -160°C

(2) -120°C

3) -196°C

(4) -80°C

In which of the following forms is iron absorbed

by plants ?

(1) Both ferric and ferrous

(2) Ferric

(3) Free element

(4) Ferrous

Which of the following elements is responsible for

maintaining turgor in cells ?

(1) Calcium

(2) Magnesium

(3) Potassium

(4) Sodium

Double fertilization is

(1) Syngamy and triple fusion

(2) Fusion of two male gametes of a pollen tube
with two different eggs

(8) Fusion of two male gametes with one egg

(4) Fusion of one male gamete with two polar
nuclei

What is the role of NAD* in cellular

respiration ?

(1) TItis the final electron acceptor for anaerobic
respiration.

(2) It functions as an enzyme.

(3) Itis anucleotide source for ATP synthesis.

(4) It functions as an electron carrier.

Oxygen is not produced during photosynthesis by

(1) Chara

(2) Green sulphur bacteria

(8) Cycas

(4) Nostoc
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115. Tiestt @friry ferad Wi @ar 2 2 115. The Golgi complex participates in

(1) Ui 3 & Hishaor 8 (1) Activation of amino acid
(2) €1 3TFA % AT H (2) Fatty acid breakdown
(3) Gﬁ?ﬂr{[@h H v | (3) Respiration in bacteria
(4) @ aﬁjﬂaﬁ & S | (4) Formation of secretory vesicles
116. T <hl nifofiaar ferad wafaq 77 i 2 116. Stomatal movement is not affected by
(1) COq Higdt 9 (1) COg concentration
(2) ?-lTCI'lTFI k| (2) Temperature
(38)  Og "igdl g (3) Oy concentration
(4) S (4) Light
117. 979 bl o<l § ¥ 8 8Id & ? 117. Stomata in grass leaf are
(1) TIARTHR (1) Barrel shaped
(2) TIATHR (2) Dumb-bell shaped
(3) AFAHR (3) Rectangular
(4) IFPIHR (4) Kidney shaped
118. =% % fru Feferfaa o @ sH-an 9 £ 2 118. Which of the following is true for nucleolus ?
(1) 98 TsaEmed RNA TYoi9ul &1 hamsfiel €oe (1) It is a site for active ribosomal RNA
3 synthesis.
(@) fowi gt sifmme § o2 HiEs e § | (2) Larger nucleoli are present in dividing cells.
(3) =B a—gi; T4 T 9T o R | (3) It takes part in spindle formation.
4) st afrmEa? | (4) It is a membrane-bound structure.

119. frfofad & & FHAT TF THERETENT W 119. Wthl:l of the following is not a product of light
. reaction of photosynthesis ?
AR 1 3earg 7T B 2

(1) Oxygen (1) Oxygen
2) ATP (2) ATP
(3) NADPH (3) NADPH
(4) NADH (4) NADH
120. Q@ GosTa W 1 JFRT fpg yraeen § oty | 120. The stage during which sepaljatign of the paired
a2 homologous chromosomes begins is
(1) e (1) Zygotene
2) T g; g?.lc}l;.yt ene
iakinesis
Ei; frre (4) Diplotene
. 121. The two functional groups characteristic of
121. IR0 % g AR HrRTcHs THE HH-T & ? sugars are
(1) i 3R grsgiiead (1) carbonyl and hydroxyl
(2)  wrEgiEd i At (2) hydroxyl and methyl

(3) eI 3R HEhe

(3) carbonyl and phosphate
(4) iR 3 Al Y ane Puosb

(4) carbonyl and methyl

122, Frferfd @ & SH-81 Th W TET 8 ? 122. Which among the following is not a prokaryote ?
(1)  s7tEeiRar (1) Oscillatoria
(2) W (2) Saccharomyces
3) i (3) Nostoc
(4) FEHIEFIRTT (4) Mycobacterium
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123. ‘sTiwded forEeh g/ 3cuTied B 8 2 123. Offsets are produced by
1) AR g (@)) Par'thfenoge.n'esis
fy (2) Meiotic divisions
(2) o L Tt (3) Parthenocarpy
(3) AREHBe gHI (4) Mitotic divisions
(4) ’\:l:’ﬁ [ERIEER-GY 124. Select the correct statement :
124. @ET HH HI T : (1) Transduction was discovered by S. Altman.
(1) YRHAY hl WIS TH. 3Tceqd 3 6 off | (2) Franklin Stahl coined the term “linkage”.
(2) “Agerar’ Seg 1 FEI HehlaH werEd | R | (3)  Spliceosomes take part in translation.
(3) TATSRIAIE TG | 9 o # | 4) Pl‘mnejtt square was developed by a British
(4) e aif we fafesr dnfaes gro foerfea femam e scientist.
o | 125. Which of the following has proved helpful in
. ) . preserving pollen as fossils ?
125. ffaRea = ' Y HA-GT WA HI Sfaredi k ®9 H (1) Sporopollenin
qiEferd s | BERED gifea kS ? (2) Pollenkitt
(1) TR (3) Oil content
(2) W foRe (4) Cellulosic intine
(3) dcfim sraEa 126. Which of the following pairs is wrongly
(4) IgAE 9T I = matched ?
. TN 1) TH. M : Link
126. Freaferfiaa § & F-a1 g 7o w i gk 3 2 W organ inkage
& . (2) Starch synthesisin pea : Multiple alleles
@ EEI o ) : (3) XO type sex :  Grasshopper
(2) W H S HYATT : W determination
(3) XO R fom faufwr : feger (4) ABO blood grouping : Co-dominance
(4)  ABO Td dHg : HEHTIeT 127. Select the correct match :
127. @g? ﬁ'ﬁ?l ED) ﬂﬁ'Q : (1) Francois Jacob and — Lac operon
(1) HeaTE Sohd qYT Jad THIS — &g AU Jacques Monod
©2) woE IhE _ m Qﬂ'ﬁ# (2) Alec Jeffreys — Streptococcus
neumoniae
(3) Ty BGcEH 3R Uh. WId — JETT J2r3a9 b .
(3) Matthew Meselson —  Pisum sativum
128. F=feflga @ @ fpaw 3w Sfiaw w1et @ Faat Th IR (4) Alfred Hershey and - TMV
2 I BT R ? Martha Chase
(1)  9dtar 128. Which of the following flowers only once in its
(2) e whefs life-time ?
(1) Papaya
3 ™ (2) Bamboo species
(4)  herd (3) Mango
129. QWU % e s w1 gy wedyem (4)  Jackfruit
forErd aeriam = o ? 129. The experimental proof for semiconservative
: replication of DNA was first shown in a
(1) fommoy & )
. (1) Virus
(2) FaH T
i (2) Fungus
(3) ey . (3) Plant
(4) Sfaro (4) Bacterium
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130.

131.

132.

133.

134.

135.

HHE R § €.TH.T. & Th ghg o HavH o g
Freafafga 8 @ S9-a1 a9 Tm=Ia: S R ST
27
(1)
(2)

pBR 322

LA (9 d18iH)
3) rABS

(4) TiweHeS

gT Al i g :
(1) ft. Hea -
(2) TS e ENERE LI
(3) dww. HEH —  ORhH
(4) Fyx oUWl SFeh  —  fgaet id

TEUSER FHHET 3R WAl g et g A 3wk
AN 1 forn Srwfta & Sew@eHl & ITE w Fn
g1 @1 2 ?

(1) Sg-3myo

(2) S9-3geH

(3) 9-3T9EeH

(4) REEE (9 gE)

e faesht ral g =mae itk 99 fRe i uewe
(wehar) Toparm o o, wrarfy O fored Wi A o Wy
o formm & | a8 fopme orafeea 2 2

(1) &

(2) Co-667

(3) < U

(4) & FER

e T % T ogafieha: ®q@id Sfai
Yo o IR H GUEAT % Godihd o fIT R § hi-41
TS IR B 2

(1) Tafms it qeams afifd (GEAC)
(2) IRdE MR FgEUH 9iwg (ICMR)

(3) oAl giETed IgEgH Affd (RCGM)
(4) e wd SMENfies egEu™ aieg (CSIR)

UifcTs @en AR (PCR) H =R &1 6&@l A
CRI i

(1) Toepdieto, oo, forao

(2) fowawon, fospedienton, SwieH

(3) fTaepdietor, foeawor, swiem

(4) 3rfer, faeato, faepdie

ESEIESEU|

130.

131.

132.

133.

134.

135.

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1) pBR 322
(2) Retrovirus
3)
4)

2 phage
Ti plasmid

Select the correct match :

(1) G. Mendel -
(2) Ribozyme -
(3) T.H. Morgan -

(4) Fy x Recessive parent

Transformation
Nucleic acid

Transduction

Dihybrid cross

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(D
(2)
6))
4)

Bioexploitation
Bio-infringement
Biodegradation
Biopiracy

A ‘new’ variety of rice was patented by a foreign

company, though such varieties have been
present in India for a long time. This is related to
(1) Basmati

(2) Co-667

3
4)

Lerma Rojo
Sharbati Sonora

In India, the organisation responsible for
assessing the safety of introducing genetically
modified organisms for public use is

(D

Genetic Engineering Appraisal Committee

(GEAC)

(2) Indian Council of Medical Research (ICMR)

(3) Research Committee on Genetic
Manipulation (RCGM)

(4) Council for Scientific and Industrial
Research (CSIR)

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(D)
(2)
3
(4)

Denaturation, Annealing, Extension
Extension, Denaturation, Annealing
Denaturation, Extension, Annealing

Annealing, Extension, Denaturation
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136. Ffafaa sifufsrn sf@en # 7= 3@ P, Q 3R R

136. Identify the major products P, Q and R in the

%! TEATHT : following sequence of reactions :
AlCI, Anhydrous
@ + CHzCH,CH,Cl ———=—
(1) Oy .
o o> Q+R () Oy
(ii) H30%/A P—————>Q+R
(i1) H3O*/A
p Q R P Q R
OH OH
CH(CH3)2 CH(CHy), | CHy-CO-CH
(1) _ CHy-CO - CHy @ 3—CO - CHj
CH,CH,CH, CHO CH,CH,CHg - CHO

@) @ @ CH,CH, — OH ) @

3) @

CH,CH,CHj

137. ffafea 4 9 9w A fCaeems s gl

3?

(1) TrsEH
2) el

(3) Ilgsh 3T
(4) UHRFeTES

CH(CH,),

@ CH,CH(OH)CHj 3

CHO COOH CH,CH,CHg

STEE |

137. Which of the following compounds can form a

Og Q

zwitterion ?
(1) Glycine

(2) Aniline

(4) Acetanilide

CH(CH,),

@ CH,;CH,, — OH

(3) Benzoic acid

OH
| CH3CH(OH)CHj

CHO COOH

0.0
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138.

139.

140.

141.

142,

[Ni(CO),| G ot il weh grahrr or 3

(1) SR SETHld To STgrrehia

(2) @t THae safuf wd fgresha

(3) i Gwaett STl T SgrEhE

(4) ITHHE SATUT TG Tfagraeh

IR ST, Fe(CO)5 8

1) fgbeh

(2) Shohgh

(3) Trhge

(4) Uehehgeh

Hiam [ ¥ fou U arg eml & wiem 11 8 fou Mo
AR o TN FEEhE  ATON € fAwy den
@gt Hoha 1 Fifése Aifu

Hicrd [ icrH 11
a. Co’* 1. J8 B.M.
b. Cr** ii. /35 B.M.
c. Fedt iii. /3 B.M.
d. Ni* iv. /24 BM.
v. 15 BM.
a b c d
(1 i v i ii
@ iv v ii i
3 iv i ii iii
4 i ii ii iv
HFA [CoCly(en),] GRT FERid HHTERIEAT 1 T &
(1) we guEgad
(2) ST TETeREr
(3) A GHTEIIET
(4) SYHEHIASH THTEIET

f=afafiga # @ F9-w1 A d-d gshHU gwiar @ qen
1Y &l STIreehed i ?

(1) MnO%~
@2 Cro2”
(3) MnO,
(4)  Cry02”

138.

139.

140.

141.

142.

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) tetrahedral geometry and paramagnetic
(2) square planar geometry and diamagnetic
(3) square planar geometry and paramagnetic
(4) tetrahedral geometry and diamagnetic
Iron carbonyl, Fe(CO)jy is

(1) dinuclear

(2) tetranuclear

(3) trinuclear

(4) mononuclear

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column I1
a.  Co>* 1. J8 B.M.
b. Cr** ii. /35 B.M.
c. Fe* iii. /3 B.M.
d.  Ni* iv. 24 B.M.
v. 15 BM.
a b c d
(1) it v i ii
(2) 1iv v il i
3) iv i il 1ii
4) i il 1ii iv

The type of isomerism shown by the complex
[CoCly(en)s] is

(1) Linkage isomerism

(2) Geometrical isomerism

(3) Ionization isomerism

(4) Coordination isomerism

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

(1) MnO%;~

@ Croy

(3) MnO,

4)  Cry02~
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143. f=fafea § @ fra 3] 4 o] g el & W@Sﬁ T [148. Which of the following molecules represents the
spz, spz, Sp, Sp HhTUT ST ST & 2 order of hybridisation sp2, sp2, sp, sp from left to

right atoms ?
2) HC=C-C=CH
@ (2) HC=C-C=CH
(3) CHy=CH-CH-=CH, (3) CHy=CH-CH=CH,

(4) CHy=CH-C=CH 4) CHy=CH-C=CH

144, Frfeifgd § @ HH-E HEeEEE Haitus TR | 144, Which of the following carbocations is expected to

arufera g 2 be most stable ?
NO,
q NO,
(1) Y " H
Y
NOy NO
2
o Q
@
Y H
Y H
NO, NO
P
g
- o wf)
Y
NO,y NO
2

o )
(4) ﬂ

Y H
Y H
145.ﬁw%rf@aﬁﬁ9ﬁwmﬁé€—lmﬁa¥iaﬁﬁl45 Which of the followine i ¢ with i
. ich of the following is correct with respect to
R ? =li|—%5€‘|
P HE @ (R ) — I effect of the substituents ? (R = alkyl)
() -NRy>-OR>-F (1) -NRy>-OR>-F
(2) -NHy<-OR<-F (20 -NH,<-OR<-F
(3) -NHy>-OR>-F (3) -NH;>-OR>-F
(4) —-NRy<-OR<-F (4) —-NRy<-OR<-F
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146.

147.

148.

149.

BaSO, #1 298 K W 5a # faeraar 2-42 x 1073 gL ™!
& | fortera qurhet (K ) 1 7 g

(fean T 8 BaSO,, 1 #iek g89WH = 233 g mol 1)
(1) 108 x 1078 mol? L2
(2)
(3)

4)

1-08 x 107 1% mo1% 1.2
1-08 x 10" mol1® 1.2

1-08 x 102 mol® L2

NH,, H,, O, @1 CO, % fou aret acd feenres
HAN: 4-17, 0244, 136 W 359 fau 7w @ |
freafafed # @ s fo we@ smEE | gfaa @ S
27
(D
(2)
(3)
(4)

o,
NH,
O,
Hy

fafafgd fae@at 1 NaOH ws HCl i fig-fim
Y2137 T 3] o 0o & s=m T 2

a. 60 mL M HCI + 40 mL % NaOH
10 10

b. 55 mL M HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mLL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

0 § fopEent pH, 1% ST BT ?
1) ¢
@2 b
3) d
4) a

fffigs & & S8 o0 W ARE H Thed &man
it et B 2

(1) Had IRE & Ay g

(2) haet TR S A TRATT W

(3) 3TRF & AAY IR T AT 8 g1 |

(4) had R & AHT T

146.

147.

148.

149.

The solubility of BaSO, in water is
2:42x 1072 gL' at 298 K. The value of its
solubility product (Ky,) will be

(Given molar mass of BaSO, =233 g mol 1)
(1) 108107 mol® L
(2)
3

(4)

1-08 x 10719 mol% 1.2

108 x 1074 mol® L2

108 x 1072 mol® L2

Given van der Waals constant for NH3, H,, O,
and CO4 are respectively 4:17, 0-244, 1-:36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) COq

(2) NH;4

3) Oy

(4) H,

Following solutions were prepared by mixing

different volumes of NaOH and HCI of different
concentrations :

a. 60 mL — HCI + 40 mL ivI—O NaOH

b. 55 mL E HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mLL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
1) ¢

(2) b
3 d
(4) a

On which of the following properties does the
coagulating power of an ion depend ?

(D
(2)

The sign of charge on the ion alone

The magnitude of the charge on the ion
alone

(3) Both magnitude and sign of the charge on

the ion
Size of the ion alone

4)
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150.

151.

152.

153.

154.

155.

garHl & fou Fafafea 8 @ sH-a1 %91 a9 787

77?

(1) FAH i Hifereh soiee T80 T # |

(2) ufi Uehet T SATeRE STET SIG |

(3) wAtH & rEr @i uATHe AT
HeETd RMMd & |

(4) et arerfiehen 3feRties & |

TfEH 3@ H BIH H T@d g¢ fefaigd § @
HA-H Grg H I VG b Tq=RE H feRAm S
ThaT & ?

(1) Cu

(2) Fe

(3) Mg

(4) Zn

frafafad & @ 7 13 & o=l § wTfoges Breamstt @
HI9-91 Y TE 8 ?

(1) B<Ga<Al<In<Tl

(2) B<Al<In<Ga<Tl

(83 B<Ga<Al<Tl<In

(4) B<Al<Ga<In<Tl

CIF; &l &A1 | Hgd T ‘Cl W THER IH
TAFLHI <hl HEAT B

(1) =

(2) T

(3) =W

@4 @

N-IfiTenl H grehl Slerelientor STaeatali 1 Hedl 3Tl
EEEET R

(1) NH,CI, N, NO, HNO,

(2) HNO,, NO, N,, NH,CI

(3) HNO,, NH,CI, NO, N,

(4) HNO,, NO, NH,CI, N,

frfafigs § 4 wHE a@ MF63‘ CIoE i T i
e B 2

1) In

(2) Ga

3) B

4) Al

150.

151.

152.

153.

154.

155.

Which of the following statements is not true for
halogens ?

(1) Chlorine has the
enthalpy.

highest electron-gain

(2)
3

All form monobasic oxyacids.

All but fluorine show positive oxidation
states.

(4)

All are oxidizing agents.

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?
(1) Cu

(2) Fe

(3) Mg

4) Zn

The correct order of atomic radii in group 13
elements is

(1) B<Ga<Al<In<Tl

(2) B<Al<In<Ga<Tl

3) B<Ga<Al<Tl<In

(4) B<Al<Ga<In<Tl

In the structure of ClF3, the number of lone pairs
of electrons on central atom ‘CI’ is

(1) three

(2) one

3)
4)
The correct order of N-compounds

decreasing order of oxidation states is
(1) NH,CI, Ny, NO, HNOg4

(2) HNO,, NO, N,, NH,CI
(3) HNO,, NH,CI, NO, N,
(4) HNO,, NO, NH,CI, N,

four

two

in its

Which one of the following elements is unable to
form MFg’ “ion ?

(1) In

(2) Ga

3) B

4 Al
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156. ANfiss A hI Na & f4fhan @ W 98 B a1 & a1

157.

158.

159.

PCl, % @1 Tffha F@H WA C a2 | BW C
A1 f Ty § rfufr e W osETie e ar

BaT2 | A, BANMCHA T
(1) C,H;OH, C,H;ONa, C,H;Cl
(2)  C,H;OH, CyHy, C,HsCl
(3) CyHLCl, CyHy, CoH,0H

(4) C,H5OH, CyH;Cl, C,H;ONa

BIEgIhEA (A) S & gfaead= grr 3Tfrfshan oteh
T Ufeehed SHES el & W fh gdw siffen g
et gregrpre # aftafda grar @ ool fof am & &»n
e T § | (A) 7

(1)
(2)
(3)

4)

CH,
CH=CH
CH; - CHg

T Ak C, Hy Tfafaa stfufsransti & Torar 2 -

3 Clz/A Brz/Fe Zn / HC1
A B

C,Hg C
3G )C’ R

(1)  p-SiHTEieE

(2)  m-SHEAE

(3) 3-5MM1-2,4,6-TEFARISIAS

(4)  o-SHIRIE

IHsd | Thid ue Ama fraed get & ffifa aegem
I HH-HT SATFATES TRV TeTh Tg7 & 2

(1)
(2)
3)
4)

NO
N,O5
N,O
NO,

156.

157.

158.

159.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,H5OH, C,H;ONa, C,H;Cl

(2) C,H;OH, CyHy, CoHCI

(3) C,HsCl, CyHg, CoH;OH

Hydrocarbon (A) reacts with bromine by
substitution to form an alkyl bromide which by
Wurtz to

hydrocarbon containing less than four carbon

reaction is converted gaseous

atoms. (A) is

(1) CH,

(2) CH=CH

(3) CHy-CH,

The compound C;Hg undergoes the following

reactions :

3ClL,/A Br,/Fe 7n/HCI
2L A2 B = C

7Hg
The product ‘C’ is

(D
(2)
3
4)

p-bromotoluene

m-bromotoluene
3-bromo-2,4,6-trichlorotoluene
o-bromotoluene

Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NO

(2) NyOs
(3)
4)

N,O
NO,
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160. Yom whife wa fgdta wife stfufsrensti # wdt fafvean 2

161.

162.

163.

g wife it Affspan w1 A stfirers 6
Trgaratt W v st g; g sife < stfafsean
1 97 ITfieRTes I Fgared w AW @ s
3

gom Hife i srfufkar &1 v IfERE
grgare |l & war g; fgdlw wife i
Al o1 a1 SAferRes il drgaret W At
1 &

o whife s 3rfufskan =1 Ifa foram S gekan
7; Ted =ife it srfufsran = 3cufa =&t fopam <
Hehdl &

SoH hife shi AT 1 378-311g [A], W FR
T #; foda wife 6 sifufsean 1 srdamy (A,
o faeft 2

CaH,, BeH,, BaH, # 3T Whid &I %7 3

(1) BaH, <BeH, < CaH,

(2) BeH, < CaH, <BaH,

(3) BeH, < BaH, < CaH,

(4) CaH, < BeH, <BaH,

Jra feu U e ®, s hr et StaEen #
itera fafie faar. o (emf) AFT W g0 TR

- 182V - 15V
BrOy — BrO3 —— HBrO

(D

(2)

3

(4)

Br <T0es2v B2 “1hesv
H-E TS STEHTIe 8 T 7 2
(1) HBrO
(2) Bro;
3) Br,
(4) BroO;

form feufa & STatr & 1Tt 1w sifireman B 2

(1) 10730 5 & forw

(2) 18 mL <t & forw

(3) 1atmTd 273 KW 0-00224 L 3 59 & forg
(4) 018 g9 & faQ

160. The

161.

162.

163.

correct difference between first- and

second-order reactions is that

(1) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend

on reactant concentrations

the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(2)

3

a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

the half-life of a first-order reaction does not
depend on [A]ly; the halflife of a

second-order reaction does depend on [A]

(4)

Among CaH,, BeH,, BaH,, the order of ionic
character is
(1) BaH,; < BeH, < CaH,

(2) BeH, < CaHy < BaH,
(3) BeH, < BaH, < CaH,
(4) CaHy <BeHy < BaH,

Consider the change in oxidation state of

Bromine corresponding to different emf values as
shown in the diagram below :

_ 182V - 15V
BrOy — BrO3 —— HBrO

Br

«— B
10652V 2 1595V

Then the species undergoing disproportionation
is

(1
(2)
3
4)

HBrO
BrOg
BI'Z

BrO;

In which case is the number of molecules of water
maximum ?

(1)
(2)
3)

1072 mol of water
18 mL of water

0-00224 L of water vapours at 1 atm and
273 K

(4) 0-18 g of water
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164. FHTeifadfces Tl o FILH THCT HTMVIH GeITH

165.

166.

I Ufoegrgel, higHl qo1 F& de T Ucshiaidl 9
IR B4 & | T8 Foreeh RO B B 2

(1) AU gEgie qe s o
(2) 3Tq: 3Tk gTEgIoH S8 o4 I

(3) R ITAl 1 I[eh AT FUE TS
ITeT THYV Sl o gRT BT §

(4) HEIFIAC A o o449 F

T Al 8 A, CgH; O 1 foh NaOI (Y i Affshan
NaOH ¥ b 11 Ta7) & 1ffshan otk enefires

T arert dell 8T T B |
A 3R Y W B
CH,

(1) CHy @ OH 3R I,
HyC —_ ) CH, - OH 3 I,
3) @— (le — CH; 3 I,

OH

¢ - CH, - CH, - OH iR 1,

=g Ifrfsean
OH O Na*

@ + CHClg + NaOH ———> @ CHO

§ Ao soiageg 8
(1) SRR (:CCly)
®
(2) SEFARMIIS gRE (CHCL,)

S
(3) SRFARMIS UM (CHCL,)

®
Siffe e=E (CHO )

(2)

(4)

4)

164. Carboxylic acids have higher boiling points than

165.

166.

ketones and alcohols of

aldehydes, even

comparable molecular mass. It is due to their
(1)
(2)
3)

formation of intermolecular H-bonding
formation of intramolecular H-bonding

more extensive association of carboxylic
acid via van der Waals force of attraction

(4)

formation of carboxylate ion

Compound A, CgH,,O, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

CH,

CH, G OH and I,

a s
CH - CHjz and I,
O
OH

¢ M- CH, - CH, - OH and I,

In the reaction

(D

(2) H3C CH2 — OH and 12

3)

(4)

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

(1) dichlorocarbene (:CCl,)

@
(2) dichloromethyl cation (CHCl)

)
(3) dichloromethyl anion (CHCly)

@
(4) formyl cation (CHO )
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167.

168.

169.

170.

171.

Xy, Yo 3R XY I 37wy foRioH SHleti &1 Fquma
1:05:1 8 | XY % fwawm i woed
AH = - 200 kJ mol™ B | X, I 31y forirsH ot
il
(1
(2)
3)
(4)

9 MR hT TRIER HiwgaT 1 g1 fohan ST 2,
@ I Hife Atufshan & fou s1¢-o1y wa

(1) sufEfdd war 8

(2) AT Bl &

(8) T B @

(4) B[R

TTes g TrfieRtor § HNeE Uk ‘o’ Hefd 8
(1) 79 3T & AL RN Fall &

(2) T8 37U % e |

(3) T el & Hex Iufedd fagd-aa &
(4) 79 3Rl & A |

400 kJ mol*
200 kJ mol ™!
800 kJ mol ™!
100 kJ mol

srfufshan & F=fefaga & @ sF-H g sifiean 3care
o o foT ITRER 7,

Ay (g) + By (g) = X, (g)
3= d9 g 1 T
=1 9 e 3= T

3= d¥ Ud 3 <

= a9 wd = T

AH=-XkJ?
(D
2)
(3)
(4)

Ieiad srivyfsman
MnOj, +Cy0% + H* —— Mn2* + CO, + Hy0

3 fu wafera w5 fo R S wE
3

MnO, C,07~ H'
1 5 16 2
(2) 16 5 2
3 2 16 5
4) 2 5 16

167.

168.

169.

170.

171.

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1: 0-5 : 1. AH for the formation
of XY is — 200 kJ mol . The bond dissociation
energy of X, will be

(1) 400 kJ mol*
(2) 200 kJ mol*
(3) 800 kJ mol !
(4) 100 kJ mol*

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1)
(2)
3
(4)

remains unchanged
is halved

is tripled

is doubled

The correction factor ‘a’ to the ideal gas equation
corresponds to

(D

forces of attraction between the
molecules

gas

(2)
3

density of the gas molecules

electric field present between the gas
molecules

4)

volume of the gas molecules

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g +By(g) = X5(g) A H=-XkJ?
(1) High temperature and low pressure
(2)
3)

(4)

Low temperature and high pressure

High temperature and high pressure

Low temperature and low pressure

For the redox reaction
MnO; +Cy02” + H' —— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
L 5 16 2
2 16 5 2
3 2 16 5
4 2 5 16
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172.

173.

174.

175.

176.

foeieh og 19a SATeThA Sgerhi o Haw H Frfafaa §
Y HI9-G1 YT T 8 ?

(1) 3Th 9o Easl § Joa qeedes ey
AR |

T fafm W wgas Eest % o=
UEEASTh HEY B @ |

YheATse Td HeATfie 36h 3eTel & |

¥ fgforareass wa ffsharcns gl & Thoehl @
T4 B |

el 1 AR Yed i Wem H R W
m-AEZefeA ot T 8 i

(1) 3r<fig (veat) aresm | Uets Ufefifem eomm
& &g H AR |

gferceme i Jufeufa % raeg A1Edt AYE gAW
haet m-feafa @ & St 2 |

yfeeemsh Al srufeafd # A wgE AW
m-feafa ST 2

T ufaeaew il § Wl @R
m-fFéeil 2 |

f=fafiea @ @ 9 rfeas i Taitts fT
TR B ?

(1) CaO

(2) MgO

(3) BaO

(4) BeO

el v Uftrenufaed # fofirerar @

(1) U | Td o™ | o1 7

(2) UHemufETd 1 > 4 o997 A 1 — 6 o-FEH
3

U@ § 1 — 4 o999 q°1 1 — 6 B9 3
UHAE H 1 > 4 o997 91 1 - 6 -G &

(2)

3
4)

(2)
(3)

(4)

(3)
(4)

2:3 g WHifHeh A YT 45 g FTTh A I TTg
H,S0, & fran am = Icafsla e s vt KOH
% BIC Sl ¥ TAW Il 2 | STP W 5+ T I9]
1 W (g H) BATI

1) 44

(2) 14

3 28

4 30

172.

173.

174.

175.

176.

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?

(1)

They contain strong covalent bonds in their
polymer chains.

(2) They contain covalent bonds between

various linear polymer chains.
3)
4)

Examples are bakelite and melamine.

They are formed from bi- and tri-functional
monomers.

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1)

In acidic (strong) medium aniline is present
as anilinium ion.

(2)

In spite of substituents nitro group always
goes to only m-position.

3

In absence of substituents nitro group
always goes to m-position.

(4)

In electrophilic substitution reactions

amino group is meta directive.
Which of the following oxides is most acidic in
nature ?
(1) CaO
(2) MgO
(3) BaO
(4) BeO

The difference between amylose and amylopectin
is

(D

Amylose is
galactose

made up of glucose and
(2) Amylopectin have 1—4 o-linkage and
1 — 6 a-linkage

3

Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(4) Amylose have 1—4 and

1 — 6 B-linkage

a-linkage

A mixture of 2:3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

(1) 44

(2) 14

3 28

(4) 30
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177.

178.

179.

180.

Frafafaa @ @ ®H-51 S99 F@eT B 2
1) d2 % T m® am = 7 |
(2) ‘& HEh H Folag Hl HA helh VT Fam
I % S R |
N U] T gl fa=ma
1s2 252 2p)1( 2p}1, 2pi
PO LR R
Teh HheTh di9 Faien gesh ¥ fAféy & J«fs
Th WY H TH FAEH WX FdICH Gl |
fféz 2 |
FrfaRad vl = faem AT
CN*,CN~,NO da1 CN
=0 § fopuehl S=an 3Tey HIfe 8 2
(1) CN
(2) NO
(3) CN*
(4) CN~
TR T o (X) ¥ I b T A™HS
dfies s & 1 AR (X) H Fman sEwen #
AR faamE 1s? 252 2p3 R, a1 3@ Affe @
T ga 7
(1) MggX,
(2) MgyXy
(3) MgyX
(4) MgX,
TR T A & A9 T bee TEET BT 8 | 900°C

IR Fg fec TEAT H qiEfdd 81 It 8 | STRA % HW
% A9 T e T 900°C 19 T Ted T T T

(W T TR 1 Aok GeIHH Td WA s
=+ a1y foor §)

3

(4)

(1)

(2)

Sl 1

&

3

£ 3

@) X3

&

177.

178.

179.

180.

Which one is a wrong statement ?

(D

The value of m for dz2 is zero.

(2)

Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

3

The electronic configuration of N atom is
1s2 2s2 Zp;lz Qp; Zp;

Pt L

An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(4)

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN
(20 NO
(3) CN*
(4) CN~

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 152 2¢2 2p3, the simplest
formula for this compound is

(1) MggX,

(2) MgyXg

(3) MgyX

4) MgX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fcc structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic

radii of iron remains constant with temperature)
is

(1)

(2)

3

£, sl -

2

443

(4 X<
3vJ2
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Awferaa 13351 &7 @ g -

1. I8 IH W e wheneff, fleres @i o1
SENRERECl

9. efers 1 Frles <t faom orgufa < fomm
T gieqrelf 39T T 9 BiS |

3. HRENG e 1 3o IR 97 fou fomn @@
Jufeufa. o W gam gEarer fope fomm i
wienedl wlen @ & wen | At Tt
Tigeff 7 gEd 9R SuieafauEme W
TEAER T Tohy a1 9 Wi e foh S
3T U A& AT § SR Ig Araa aned
T WTHSAT HIFT TG |

e o o [N«
4. SAFCIHh/[ETHTAd TlLeheTeh bl IUINT JIS(d

2 |

5. JOTE | =R o foru ghemeff udem <
fmi v fafee g fefia 8 1 sga
e o afi el w1 SEen 3§ wie &+
fremi wa fafemi o orgam g |

6. Torelt off g o wem gieaeht TR S W
T g W AT 7 . |

7. 9 gieashrER U # feu mu ulen gicae
Tohd i wdierefi wEt ok & Sufedfaoses o
ford |

Read carefully the following instructions :

1. Each candidate must show on demand his/her

Admit Card to the Invigilator.

. No candidate, without special permission of

the Superintendent or Invigilator, would
leave his/her seat.

. The candidates should not leave the

Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

. Use of Electronic/Manual Calculator is

prohibited.

. The candidates are governed by all Rules and

Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as
per Rules and Regulations of this
examination.

. No part of the Test Booklet and Answer Sheet

shall be detached under any circumstances.

. The candidates will write the Correct Test

Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.
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